INSTALLATION GUIDE

LEXUS GX MULE ROOF RACK

D

EXPEDITION ONE



CONTENTS

CONTENTS

Page 3 Rack Assembly Drawing

Page 4 Hardware

Page 5 Front and Side Braces

Page 6 Rear Brace and Side Fascia

Page 7 Rear Fascia

Page 8 Front Fascia

Page 9 Seam Joiners

Page 10 Spacers

Page 11 Load Bars

Page 12-13  Roof Mounts

Page 14 Roof Rack Installation
SKILL LEVEL - 3 STARS * % %

1STAR % EASY - No tools required
2STARS % X BASIC - Requires standard tools, basic mechanical knowledge and understanding
3STARS % %k & MODERATE - Requires standard tools. Some drillling and/or cutting.
4STARS ¢ % % % ADVANCED - Requires speciality tools. Drilling, cutting, and/or welding
5STARS T % % % % EXPERT - Professional installation recommended.
DISCLAIMER

Expedition One is not responsible for any damages to vehicle or injury.
We always recommend professional assistance when installing our vehicle products.

Always follow safety procautions including the use safety gear and devices.

NOTE

Due to the nature of aluminum, rack pieces including fascia parts may require time to “relax” or return to shape before mounting.

Do not force parts into place. Leave all hardware loose before tightening to allow for adjustment.



ITEMA MO | QTY. | FART MLUMSER DESCMPTION
| | [MLGXas-ULTRA-RE1D] FRONT BRACE
Fi 1 |M|_£I'I|!|I:I-LII.TEA-EK'I{I‘E FHGHT RAJL
3 1 |ML-GrassuLTRA-RE 103 LEFT RAIL
s 1 [mLGraso-uLTRA-RE104 REAR BRACE
5 1 [MLGras0-uLTRA-RE105 FRONT SDMNG
4 1 [ML-GRassULTRA-RE 104 RUGHT SIDING
7 1 [mLGraso-uLTRA-RE107 LEFT SIDING
8 1 [MLGXes0-ULTRA-RE 108 REAR SIDING
% | [MLGras-ULTRA-RE109 FROT ROGHT SEAM JOINER
10 | |ML-GXas0-ULTRA-REN 1D FRONT LEFT SEAM JOINER
TEM 10, | QY FART MUSABER DESCRIPTIHON
11 ] PAL-{ZASULTRMREIN REAR RIGHT SEAM JOIMER
F I |MLGXas0ULTRA-REN 12 REAR LEFT SEAM JOINER
13 I | ML-GEAGULTREA-REL I FRO®T FIGHT BOOF MCHINT
14 I LR AE0-ULTRA-RE D 14 FRCHT LEFT RICDF SMOUNT
5 I |MLGRas-ULTRA-REN1S CENTER RIGHTROOF MOUNT
18 I | PAL-GEAGT-ULTRA-RE 1S CEMNNTER LEFT ROOF paCUIMT
17 I |PAL-E A0 ULTRARE N N F REAR REGHT ROOF SBACHINT
8 | |MLGEas0-ULTRA-REN 18 REAR LEFT ROOF MOAUNT
1% 10 |POML-MULE-GE-FLCOR-SLAT-C OFY SPFREADER
0 A | PCML-MULE-RACE-SFREADER-MNT-BRAKET- | <L00FY BRACKET
21 T | PCML-ks_ESane-COFY MULE BADGE




HARDWARE

HARDWARE
ITEM QTY
Lexua GX Mule Ultra Roof Rack
Front Brace 1
Left Rail 1
Right Rail 1
Rear Brace 1
Front - Cutout or No Cutout 1
Left Side 1
Right Side 1
Rear 1
Front Left Seam Joiner 1
Front Right Seam Joiner 1
Rear Left Seam Joiner 1
Rear Right Seam Joiner 1
Spreader 10
Spreader Bracket 20
A - Mule Ultra SUV Hardware Kit
1/47-20 X 1/2” Button Head Bolts 80
1/47-20 X 3/4” Button Head Bolts 22
1/47-20 Nylock Nuts 102
5/16”-18 X 3/4” Hex Cap Bolts 8
5/16”-18 X 3/4” Button Head Bolts 38
5/16”-18 X 2 1/2” Button Head Bolts 6
5/16”-18 Nylock Nut 44
5/16”-18 Clip Nut 12
5/16” Flat Washer 16
Roof Mount Hardware Kit
MS8-1.25 X 30mm 12
5/16” - USS Washers 12
B - Spacer Kit
Round Spacer 10
Tube Spacer 12
Med Rectangular Spacer 12
Thick Rectangler Spacer 12
C - Roof Mounts
Front Mounts ( F) 2
Middle Mounts ( M ) 2
Rear Mounts (R) 2
D - Weather Stripping - 63” 1

Foam Stripping - 18” 1



RACK ASSEMBLY

ATTENTION
When assembling the Mule Ultra Rack, remember to hand-tighten all bolts relatively loose until the
very end of the install. This allows everything to fit into place before everything is tightened down.

1 OEM ROOF RACK REMOVAL

Remove the OEM roof rack from the vehicle by undoing the hardware located at each mount.

) FRONT AND SIDE BRACES MOUNTING

Lay out the front and side braces as shown. Mount the braces together using the 5/16” bolts and nuts.

0 50 1&- 18 75 BUTTOMN HEAD BOLT
g WIHYLOCK




3 REAR BRACE AND SIDE FASCIA MOUNTING

Attach the rear brace and side fascias shown using 1/4” and 5/16” bolts on both sides as shown below.




SIDE FASCIA CONTINUED

/Zl REAR FASCIA MOUNTING

Attach rear fascia as shown with 5/16” bolts and nuts.




5 FRONT FASCIA MOUNTING

Attach the front fascia using 1/4” bolts. Use the provided round spacers to adjust the front fascia to
match the curve of the roof when test fitting the roof rack during mounting.

NOTE: IF YOU HAVE A FASCIA WITH A LIGHT BAR CUTOUT, WE RECOMMEND

INSTALLING THE LIGHT BAR PRIOR TO MOUNTING THE ROOF RACK.

Install the weather stripping to the bottom of front
fascia as shown and trim any excess.




6 SEAM JOINERS

Mount both front and rear seam joiners with 5/16” hardware as shown top and bottom.

31618 x .5 BUTTON HEAD BOKLT
NYLOCK




7 REINFORCEMENT SPACERS

Attach reinforcement spacers as shown on all 6 hole locations (3 each side) with the provided hardware.

10



& LOAD BAR ASSEMBLY

Assemble the load bars with the provided mounts using 1/4” bolts and nuts. Repeat for all load bars.

9 LOAD BAR INSTALLATION

Flip roof rack over and attach load bars as shown. Using provided nuts and bolts, you may begin
tightening down each load bar with two bolts and nylocs for each side.




12

ROOF RACK MOUNTS

10 MOUNTING AREA

In preperation for attaching the roof mounts cut a foam strip to lenght of mount area and attach. It is
recommended that you place 2 of the large (thicker) spacers over each the mounting location

Extra spacers are provided to level and shim the rack mounts as needed. Repeat this step for the other
mounts.

Actual spacers types and counts may vary as not all vehicles are the same, use the combination of spacers

and spacing that best fits your vehicle.

11

ROOF MOUNTS

Attach all roof mounts to the vehicle using the M8 bolt and washer hardware. Leave loose to provided
adjustment as needed. The location and placement are shown on the next page. Once completed add the
provided clip nuts to the top of each mount for attaching the roof rack.




13

ROOF MOUNTS CONTINUED

x5

M

¥c)

DRIVER SIDE

i
PASSENGER SIDE

FRONT BRACKETS - OPEN SIDES WILL FACE INWARD

REAR AND MIDDLE BRACKETS - OPEN SIDES WILL FACE OUTWARD.




ROOF RACK INSTALLATION

1 2 ROOF RACK MOUNTING

Place the roof rack onto vehicle with help of a friend and align with each bracket. Use the provided
5/16” bolts and washers for each mount hole location and tighten down roof rack to each bracket as
shown below. Spacer kit may be used to level and adjust the roof rack. Tighten all hardware once
completed.




